SYNERGEE
POWER STATION




SYNERGEE PARTS LIST

POWER STATION

(1) Lower Frame x2 (2) Main Uprightx2 (3) Top Upright x2 (4) Pull Up Bar x1

5\ S|~

(5) L Support x2 (6) Mid Stabilizer x1 (7) Upper Stabilizer x1 (8) Dip Handles x2

e

3

(9) Bench Frame x1 (10) Bench Leg x1 (11) Bench LFrame x1  (12) Left Handle x1 (13) Right Handle x1
(14) Bench Cushion x1 (15) Back Cushion x1 (16) Arm Cushion x2 (17) Leg Roller x4 (18) Roller Frame x1

IF ANY PIECES ARE MISSING, PLEASE CONTACT US IMMEDIATELY:
CUSTOMERCARE@IHEARTSYNERGEE.COM OR 1.855.217.7136




SYNERGEE PARTS LIST

POWER STATION
(19) Stabilizer Plate x2 (20) Mounting Plate x2 (21) Pull Pin x2 (22) Screw Pin x2 (23) Screw Pin x1 (24) Foot Cap x4

Oy — & =S =

(25) Inner Slider x2  (26) Rubber Handle x8 (27) Bench Foot Cap x4 (28) End Cap x2 (29) End Cap x1

= V) || o ||

(30) End Cap x1 (31) Screw Capx16  (32) Resistance Bandx2  (33) M10 x 55 x8 (34) M10 x 25 x4
- — 1 i —
(35) M10 x 50 x4 (36) M10 x 55 x4 (37) M10 x 65 x4 (38) M10x 100 x6

(O——— F — ©

(39) M10 x 100 x2 (40) M8 x 20 x6 (41) M8 x 85 x4 (42) M8 Washer x6

© © © © o)

(43) M8 Curved Washer x4 (44) M10 Washer x38  (45) M10 Curved Washer x10 (46) M10 Nut x26 (47) Wrench x2

IF ANY PIECES ARE MISSING, PLEASE CONTACT US IMMEDIATELY:
CUSTOMERCARE@IHEARTSYNERGEE.COM OR 1.855.217.7136




SYNERGEE STEP 1

POWER STATION




SYNERGEE STEP 2

POWER STATION




SYNERGEE STEP 3

POWER STATION




POWER STATION

SYNERGEE STEP 4




SYNERGEE

POWER STATION

STEP 5




SYNERGEE

POWER STATION




SYNERGEE STEP 7

POWER STATION




